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1 1 305 R BE R INER 07453458 2kmBF INEIFE
2 2 309 N s EES21=TF 074359 2kmBF NFEIFELE
3 3 308 8 N Y7354 X 0843097 2kmBF INEIFEHE
4 4 307 INR BH YF7o54X 084309%) 2kmBF NFEIFLE
5 1 601 A HE TER/IER 084313 2kmEF INFEIFE
6 5 321 EP S EMR—RR—ILYZ5T 084> 20%) 2kmBF NFEIFLE
7 6 319 WHES BR7RY— (FEH) 0843267 2kmBF INFEIFEE
7 306 EXBX el 085331%) 2kmBF INFEIFELE
9 8 303 TR B —TEELYST 08%>36%) 2kmBF INEIFE
10 9 301 A K18 VEMT&F 084349 2kmBF NEIFE
1 10 312 A HEEN BT R —k 084359%) 2kmBF INEIFE
12 11 320 AR A BR7RY— (FEH) 0943067 2kmBF NFEIFLE
13 12 318 BRETE B @7 RY— (FEE) 099315 2kmBF INFEIFEHE
14 2 603 (NP A A7 RY—h (F) 0943 19%) 2kmEF INFEIELE
15 3 602 HIR #% VL HTEF 093247 2km&ZF INEIFEHE
16 13 313 HAER EMR—RKR—ILYIZ5T 105304%) 2kmBF NFEIFE
17 14 310 GE ] ST/ 1053055 2kmBF NFEIFE
18 15 314 KIWE EMR—RR—ILYIZT 105333%) 2kmBF NFEIFE
19 16 315 Bz ERE EMR—RKR—ILH5T 105359%) 2kmBF NFEIFEE
20 4 606 HHEEE B @7 RY— (FH) 1143007 2kmEF INFIFE
21 17 317 hH@mA BR7RY— (FH) 153078 2kmBF INEIFE
22 18 304 K& A&l —TREEEYST 1153358 2kmBF NFEIFE
23 5 605 INAZE BR7RY— (FH) 12530145 2km&F INEIFELE
24 19 311 A PN BT R —b+ Frf 9% 2kmBF NFEIFE
25 20 302 EHKE VOHT&F B 5 2kmBF INEIFEHE
26 6 604 PGS BR7RY— (FEH) Frf 9% 2km&EF INFEIFLE

27 21 316 & REER B@E7R)—k (R Frf 28 2kmBF INEIFHE



